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(Qewoat-1/ Part-1
HelAs aHcl 503l / Mental Ability Test

y# .1 Yl 50 / Question No. 1 to 50

(LAl A BN HILAH HR)
(For Gujarati and English Medium)

1. 21,23,27,33, 2 Ans : (B) 41
2. 1,6,15,__2? _ ,4566,91 Ans:(D)28
3. 2,612, 2 30 Ans : (C) 20
4. 107,97,82,62, 2 Ans : (D) 37
5. 2,1,4,3,6,58, 2 Ans: (C) 7
6. 8,3,11,14,25 2 Ans : (B) 39
7. 8,16,28,44, 2 Ans : (B) 64
8. 2,818,32,50, 2 Ans : (B) 72
9. 1,3,7,15,31,__? Ans : (D) 63
10. 0,3,8,15,24,__? 48 Ans:(D)35
11.

+

(B)

. [

(D)
14.
OR
(A) (D)
i
(Q)
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BBE
A O D M

16
|3 48 |
17. 51
| ? 9 | Ans : (D) 42

% ?

13
18. Ans : (C) 39

8|5
19.
Ans : (A) 54

41 3 |2
20. 69 |5

912717 Ans : Grace
21. o cuP=408A, AKITE=__ ? Ans : (D) 45
21.  If CUP =40 then KITE = ? Ans : (D) 45
22. o ZEBRA=26521818\a, l LION=___ ? Ans : (A) 1291514
22. |f ZEBRA = 2652181 then LION = ? Ans : (A) 1291514
23. o BAG=718, Al VICE=__ ? Ans : (A) 69
23. |f BAG=71then VICE= ___? Ans : (A) 69
24. ol RAJU = 11-12-13-14 el JUNK = 13-14-10-9 &la, l RANK=___ ? Ans : (C) 11-12-10-9
24. |f RAJU = 11-12-13-14 and JUNK = 13-14-10-9 then RANK=__ ? Ans : (C) 11-12-10-9
25. ol WORK =4-12-9-16 &2, l WOMAN=__? Ans : (A) 4-12-14-26-13
25.  |f WORK = 4-12-9-16 then WOMAN = ? Ans : (A) 4-12-14-26-13
26.  EXCELLENT ol lEQ TNELLECXE W3] ll MARKET &l WlEQ 9 UL ? Ans : (C) TEKRAM
26. If TNELLECXE written instead of EXCELLENT then what is written for MARKET ? Ans : (C) TEKRAM

27. o pQRS A AB(AS GUMHL KIIH AV, Al EFGH o AB(As ™Ml 9 vl ?  Ans: (A) VUTS

27. If PQRS is written as KJIH, then EFGH is written as Ans : (A) VUTS
28.  ofl WXYZ=DCBA &, dl COME=? Ans : (B) XLNV
28. If WXYZ=DCBA then COME=? Ans : (B) XLNV
29.  ofl CARING=EDVGKC el SHARE=UKEPBO &2, ll CASKET=? Ans : (D) EDWIBP
29. If CARING=EDVGKC and SHARE=UKEPBO then CASKET=? Ans : (D) EDWIBP
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30.
30.

31.

31.

32.

32.

33.
33.

34.

34.

35.
35.

36.

36.

37.
37.

38.
38.

39.

39.

40.

40.

41.

41.

42.
42.
43.
43.

%\ PICTURE=QHDSVQF &l2l, dl BROWSER=? Ans : (B) CQPVTDS
If PICTURE=QHDSVQF then BROWSER=? Ans : (B) CQPVTDS
A ool BgAe] watclsat 531 Al Avaul AA ¥ B otll o wuglaui
é ‘ uell el &lat. Ans: (A) 2

A Study the diagram and find out the number, that lies inside all the figures.
N

'H Ans: (A)2

A As UEAlell §lal drs B8R 530 58 “Aotl QAcltell U, HRL Uletell iy i A

gletaoll calsel wlsa 9 a2 Ans : (A) 6Ldat

Pointing at photo of female, Ashok said “Her father’s wife is my wife’s mother in law. What is the relation
of Ashok with that female in photo ? Ans : (A) Sister

2 A ARUA Aol WRAQA A B Al adnell doiu sloll WA B ? Ans : (C) URY

As relation of square with perimeter, what is the relation of circle from following in the same manner ?
Ans : (C) Circumference

423411223412244335341123
GuRe{l islell ARl ANal 32l 3 B Fo{lwnnell 3is 4 U WO s 2 8l ? Ans: (C) 2

423411223412244335341123
In the above series, how many 3’s are there such that 4 comes atter 3 and 2 comes before 3 ? Ans: (C) 2

-8, b-£, c-09L, d-HIwRL Ul ol Aottniell s Qscu dlds A Mo sH £21A ® 2 Ans : (A) bacd

a-curd, b-milk, c-butter-milk, d-butter, are given. From above milk products, what order is logically correct
from following option given ? Ans : (A) bacd

ofe: WAl ol ? Ans : (B) gl
Shoes : cobbler :: Food-grains : ? Ans : (B) Farmer

26-sleA-1¢ ¥ oll (R HolnaR 8la,dl 2-UR1R-1¢ ¥ oll B sl clRk 8lal 2 Ans: (C) 93
On 26-January-1947 is Tuesday, then which day on 2-september-1947 ? Ans : (C) Thursday

8:25 cllod dlSaulnetl otloll sial WA Hlal sial dAs wEll Jedl sl & ? Ans : (B) 102.5°
What is the angle between hour hand and minute hand in the clock shows time 8:25. Ans : (B) 102.5°

A@As yd Rauni 5 Bl wd@ &. curoe el ooy 8 Bl wa@ &. sdell stell ooy 5 Bl w@ & ugdl
stoll oy 31 8 Bl wAB, A 6A A yrallet (@gll 32@ g2 62 2 Ans: (A) 10 (.41

Maulik walks 5 km in east direction, then he turns right and walks 8 km, again he turns left and walks 5 km,
then he turns rest and walks 8 km. Now, how much would he for from his origin?  Ans: (A) 10 km

ol & Yd s yut AWl GAA ¢ ol 100° U utcofl (ol (clockwise) ol 145° ulaune{l (@Q3eu

(Zouni (Anticlockwise) $3 L & 58 (Baumi yu vl Gell alsal ? Ans : (A) GrlR-yd (82lsl)
If is stand by keeping mouth in east direction and turn 100° clockwise and then turn again 145°
anticlockwise, then in which direction keeping my mouth will I stand ? Ans : (A) North-East

200 WALSlAoll ALl cltgsatul sild¥a stell ouoell 18 Hi sA B, Al ¥Rl clyAell Aej elet 32d dLaaL ?

Ans : (B) 183
In a line of 200 players, Kartikey’s sequence is 18" from left side, then what is his sequence order from
right side ? Ans : (B) 183

Ans : (C) [@Qe?
Ans : (C) Liter

Ans : (D) ad
Ans : (D) Oil
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44. Ans : (C) aegané
44. Ans : (C) Newyork

45. ARl Rl a2 Bl Aol & Adles . A, ol o[l A et AcEHil 5ol A 6 ?

Ans : (B) Al@loteat

45. There is a relation between India and Delhi. Which of the following words has
the same type of relation with U.S.A. ? Ans : (B) Washington

6. Q4 deQx, xA GEA +, + A GEA - UN — A HEA + At 2 A o[l Aotio]

AEIU AU 2 wcllol HA ? 18-(24x3) + 8 Ans: (A) 18
46. If x in stead of +, + in stead of x, - in stead of +, and + in stead of - are considered,

then what is the answer of following by symlifying ? 18-(24x3) + 8 Ans : (A) 18

47.  As AvAlell 30% oll 30% 9 &, cl d AvAl §8 ? Ans : (B) 100
47. 30% of 30% of a number is 9, what is that number ? Ans : (B) 100

48. 23%3| =6 UYL, 2 USR%el =8 30U HA, Al 133 Acllad GlEA ¥2Cl 30l HOL ? Ans: (A) 12
48. 2 mangoes = 6 apple, 2 apple — 8 bananas, so instead of buying 1 mango, how many

bananas are available ? Ans : (A) 12

49. 12 qod ulSanell A sial dRAsll wRUe] MU 9 &2 ? Ans : (B) 0°

49. What would be measure of angle between hour hand and minute hand, when
clock shows time 12 o’clock ? Ans : (B) 0°

50. A5 W 250 Hle? usloll uss 75 AsesHL UAUR 531 A B, Al wl HIRe{l 35U

Yol (3.4l /scusoll a2 Ans : (B) 12
50. A man passes road of 250 meter broad in 75 second. What is the speed of man in Km/hour ? Ans: (B) 12

Qewot-2 eunit sAEl (r2ndl Hitar HR2)

1 oRRe M3l sl Wl 23U 1R el ] ? Ans : (A) Yol

2. flogoll sttdoll ALl sell eRal Botd goll sdl. 2 Ans : (A) Hgell

3. AU SleAM] SleAotlAS Bostlo] ULRA g HIA & ? Ans : (B) lld ofe

4. s HeolRl AUR sl 9 Alcll &dl ? Ans : (C) AEel

5. Sletet Al 12 st oAl s(Q nllcl B 2 Ans : (C) oSlallAlEA

6. lRiol® Slal Welloll ARY HA & ? Ans : (A) YYHEU

7. 2lgneldldl BUR ¥R sl €A 83 2 Ans : (B) BosiE cl

8. dindll GuR SoL U uBA B ? Ans : (A) do%ell3]

9. AL yecll As $ol B - Ul YsRall ([AUR sl slcAHl s AR B ? Ans: (A) [QUR 9L [RAR
10. 4l ct sloll exisyal ocl ? Ans : (C) GOls URHIR

11, opoRIH elg Hdl AsL ollAuls sl ollesHiYl AalHl vl B ? Ans : (A) BAeau(@utet

12, glaslideg As Ule]' Hi sl WAAell AHLALL o1l ? Ans : (D) AHeUY

13, 3(@y2otell sl wel WA B ? -"As AioteflA URQL 89" Ans: (C) Ul Acltllal 8lg

14, wuEl Axdletal 9f Warlaal 53 & ? Ans : (A) ARet QR

15, 'yuddq' Ause] olM - Ans : (C) oU3lais2 dllcttlotAn Sl
16. Al Asell 56 B 2 Ans : () JREA

17. 9Reu8ell YR’ Ui o{lAo] cllsal Slotl W2 sdcll B ?

"o sletlell 22 sletoll, UM $IAA WILA €l Acll GARL R¢lal Al ¥ el we? Wouslal ?" Ans: (B) Hp
18.  2ludcet Aell wouRHI stst stSlal declt 302 WSAA &l ? Ans: (B) 90 320
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19.
20.

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34,
35,
36.
37.
38.
39.
40.
41.
42,
43,
44,
45,
46.
47.
48,
49,
50.

"slecl” slcauMl sisl WdH SIAAUSY Aof cdet 53 B 2

Ans : (D) 4L U8l As gl o8l

UAURA €613 Ascw Ul Ausoll Uc(l Ul Ulal 213 58 2R Y3 © 2
Ans: (D) Quts AL Yleatell 23 52 Al Aoll Ul 3(@sAuU As sl el

ol Aett (Al AcElMl 585 Als ARl otell 2 Ans : (C) AS - ¢

HBsA AU AUl WesA Ausal 9 Ae WA D ? Ans: (C) HIGAU ool

(Qsiet 20elel s & 2 Ans : (A) 9\t

udSlall sl oMol U Yol B ? Ans : (B) HLER

W oUR 3H 1Sy ' UL Auisey sisl AUBA Y Holedol W], Ans: (D) 2l Usloll dAHIH
958l clcdlotl stluso] otin RUAl. Ans : (B) BlA

ET I ollMe] W@s A3 53 &d. Ans : (C) €320

URAA” GUatHUZ] A5 5L ? Ans : (D) Y31 Yotreus Al
AllRoL 2loEall W LUl Ans : (C) alloL

visslcloll %ats 3y slel yRtu unal ? Ans : (A) Slocl

‘lell AaleHl Aol HBHL scuHl AN B 2 Ans:

(C) Hid et

‘Bt Aa, At Sldot — w9t [Aucll ole FHIRT WUASIR WAL Ans : (B) ARl UlH

‘o] MaARUR’ A2 sl HEUL £2llcy B ? Ans

: (B) HELSLocll

51l GURi 20Lst, AHAY, AUEL cRUlsRL Ball Aulellofl 2Uell 50U(R.... Ans : (D) LU oL

‘ogelall’ allcdiHl sl etlet sacll Al % AN B 2 Ans
% ¥loll uRl Yl a2l 8o Al A ¥l 9 sdcllal ? Ans

: (B) UL
: (B) MR etdst

UG cllcATHl ALl Wllo] ol 53 B 2 Ans : (A) ELEL 3UIRY

U (3R ¥ GUolld sl Aus HI2 B ? Ans : (C) »Qetet AAcuc 203
UAYUALA H3clloll UeALE AR slacsle] otiH wRUA. Ans : (D) AN ol
olngllil Hag — Asesll A g wlA ? Ans : (A) 85 sllaurell Hoag

(L ActiHiell ‘@25 ol uAl AR SB3Al eadal. Ans : (B) @y+iga

ol Aottutiell tofy+2sR ol Rl AR A Ans : (A) Ho]R§12

ald syl ol Ad... Ans : (A) URusd

AHR AOU — AcRUUS Ans : (A) M8l Y™

‘6% AcEq] [Qlre 3U YAl Ans : (C) 20E

HaletRdletl Yol AUURA A Aauuiel 58 5(A B 2 Ans: (0) wAsitat

o{lAetimiell WwHO elgoll UL 585 B ? Ans : (D) ¥l U$l As uwl o1&l
s{lHE auoleldall saUsR S8l &l ? Ans : (B) YS$E A

vlall ASL UL 6 (ARA AUl sl B — cltsauMl [Auid Ul Ans : (B) UGl

Alslloll &l A@Ad [Roluni 58 cotrulQell suRaule] cot Ulouaell vasts Aol B el B ?

Ans : (B) HQQ.
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Part — Il Language Test (For English Medium)

1. Give the name of poet of poem, 'The petroit'. Ans : (A) Robert Browning
2.  Prof. Hawking earned fame for which research ? Ans : (B) Mystery of Black hole.
3.  What is the meaning of conjurer ? Ans : (C) Magician
4. The poem 'Independence' is taken from the collection from___ Ans : (A) Propa Propa Ganda
5.  On which date did the fire start ? Ans : (C) September 2, 1966
6. The author of 'A visit to cambridge' felt relief and exhilaration because
Ans : (D) He learnt that even the disabled body could do a lot.
7. 'The little match girl' stroy is famous for Ans : (D) BothAand B
8. 'Under Fire' by Laurence Housman which character is not found ? Ans : (C) Andrea
9. Who wrote the poem 'Ants' ? Ans : (A) Anon
10. The author Mulkraj Anand says, "Mustard field like melting gold because__
Ans : (B) The mustard flowers are golden vellow in colour.
11. Who understand the value of independence or freedom ? Ans : (A) Slave
12. What was the name of the ship that sank after being hit (to strike against) by an iceberg ?
Ans : (C) Titanic
13. The Ants work in Ans : (C) Gang
14. Marcus hated_ Ans : (A) walking
15. Jim Bishop’s father was___ Ans : (B) a policemen
16. The poet compares the songs sung by his mother with__ Ans : (B) hymns
17. was Miko’s weak point. Ans : (B) counting
18. When Dr. Sher Singh checked the patient’s reflexes. They were Ans : (B) on the dot
19. The instructor was rather shocked to see that the writer had drawn_____in his book.
Ans : (C) his own eye
20. Bolenciecwez was asked a question on____that he could not reply even
after a lot of prompting till very late.  Ans : (C) means of transportation
21. ‘A worng Man in worker’s Paradise’ is written by Ans : (D) Rabindranath Tagore
22. Jerome K. Jerome was not having only one disease and that was Ans : (C) house maid’s Knee
23. The poet in the poem ‘commuter’ takes his lunch....... Ans : (C) in the canteen
24. The level of noise made by a motorcycle is decibels. Ans:(B)90
25. The writer of ‘mulch Ado About nothing is Ans : (C) Will Stanton
26. Robert Burns compares his love with____ Ans : (B) a sweetly played melody
27. The poem ‘Milk for the cat’ is written by Ans : (A) Harold Monro
28. | went into the kitchen and addressed him (make simple)
Ans : (B) Going into the kitchen, | addressed him.
29. Nothing can move me. (Add a question tag) Ans: (A)canit?
30. lam so clymsy. (Make it Negative) Ans : (A) | cannot resist being clumsy.
31. Il wishlcould get some sleep. (Turn into Exclamatory Sentence) Ans : (A) Oh! To get some sleep.
32. ‘Each drowsy paw is doubled under each bending knee. (indentify the figure of speech)
Ans : (B) Transferred epithet
33. I can not think how he recognized it. (make Interrogative)  Ans: (A) Can | think how he recognized it ?
34. He was still able to hear anything connecting to food. (Make Complex) Ans : (D) BothAand C
35. Ear-rings are a form of vanity we can’t afford. (Make Affirmative)
Ans : (C) Ear-rings are an unaffordable vanity for us.
36. | was glad her dream came true. (Make compound) Ans : (A) Her dream came true and so | was glad.
37. Will you give me one of your pitchers, one that you can spare ? (Make Assertive)
Ans : (B) Please give me one of your pitchers, one that you can spare.
38. The entire hearing aid can be contained in a button-size package system. (Change the Voice)
Ans : (D) A button-size package system can contain the entire hearing aid.
39. Give the Noun form of ‘Expose’. Ans : (C) exposure
40. Give the Opposite of ‘Fact’. Ans : (B) Fiction
41. Choose the correct option for the underline word in the following sentence.
The man was taken to task by busy farmers. Ans : (B) scolded
42. The Adjective form of ‘Picture’ is Ans : (C) Pictorial
43. Give the verb form of ‘Choice’. Ans : (B) choose
44. The Antonym of ‘opaque’ is Ans : (A) transparent
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45.
46.
47.
48.

49.
50.

Give the Opposite of ‘freedom’. Ans : (D) slavery

The phrase ‘dead end job’ means Ans : (C) frustrating work
Change the Voice. — Let that be listened to. Ans : (A) Listen to that
They were friendly and eager to help a neophyte like me. (use ‘so.....that’)

Ans : (C) They were so friendly and eager that they will help a neophyte like me.

They had put it off too long. (Remove ‘too’) Ans : (A) They had put it off very long.
Give the Adjective form of ‘Pretend’. Ans : (B) Pretentive

(Qewot-3/ Part-1i

aousla Al sAEl / SCHOLASTIC APTITUDE TEST

J@lt / Maths
o\ A=(1,2,3,4}, B=(2,4,5,6}, U={1,2,3,4,5,6,7} 8, Al ANB'=___ Ans : (C) {7}
if A={1,2,3,4}, B={2,4,5,6}, U={1,2,3,4,5,6,7} then A’NB’= Ans : (C) {7}
> _a Beq] ANAs20L salugl Aqf ulgun R Ans : (A) 20V5-35
7445 — ‘ 31

. . 5 . .. . . 20v/5-35

An equivalent expression of 71475 after rationalizing the denominatoris___ Ans : (A) 31
Bl x —2A 3x* — 2x3 + 7x% — 21x + kol As vcAL A, A k = Ans : (D) -18
If x — 2 is afactor of 3x* — 2x® + 7x% — 21x + k then the value of K is Ans: (D) -18
WL x+y=2A ARNHE AR & B. Ans: (D) Udg, ollogua Ay

Line x + y = 2 passes through the____quadrants. Ans : (D) 1, 2" and 4™ all

%l AABC oll WRUoll MU 1:2:3 oll YHIQHL 8l21, Al Alell oltotl wRUej HU__ B, Ans: (A) 30°

If the measures of the angles of AABC are in proportion 1:2:3, then the measures of the smallest
angle is Ans : (A) 30°

Uy B8 AABC ol oy AB = 6 1 & AB, BC ¥\ CA ol Heau(dlgl 3ojsAP, Qual R® O

PBCR-l uRA[Q_ A ®. Ans : (B) 15
AABC is an equilateral triangle, AB=6. The points P, Q and R are midpoints of AB, BC and CA
respectively. The perimeter of o0 PBCR is Ans: (B) 15

OMABCD Hi BC Ul A AM ®. 4 AB URel Au CN B. % AB=10 A, AM=6 A ua
CN=12 A, A BC= Al Ans : (A) 20

In O™ABCD, let AM be the altitude corresponding to the base BC and CN the altitude
corresponding to the base AB, If AB=10cm, AM=6cm and CN=12cm then BC= cm. Ans: (A) 20

UHYY AABC ol QAGgAMLRNs adn urRa B. oy AB dduell Jos ol Hiusll woll

UidR4l. Ans : (D) 120
A circle passes through the vertices of an equilateral AABC. The measure of an angle subtended by
the side AB at the centre of the circle has measure Ans : (D) 120

Aslaell olgllell cols 3:4:5 ol YHIQML 8la, Al (Aslle] Axsn ARY AsH HA, »ul Aslgell

UREQ 144 B. Ans : (D) 864
If the lengths of the sides of a triangle are in proportion 3:4:5, then the area of triangle is sq.
units, where perimeter of the triangle is 144. Ans : (D) 864
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10. A sigell Aol oJEldR 2:3 B WA Aoll Al QAN YBNTR 9:4 B, Al Aol csAUSlatl AAsNall

oJellclz_ & Ans:(A)3:2
10. The ratio of radii of two cones, is 2 : 3 and the ratio of their slant heights is 9 : 4. Then the ratio of

their curved surface area is Ans:(A)3:2

. . 1
Lo qudd RssAa s aud Gondl oidl @sst UR siu wd Aol detdstt 8. Ans: (C) "
1

11 The probability of getting both heads, when two balanced coins are tossed once is__ Ans : (C) 2
12, juall 1og0.003942 ol Yallal= Ans: (C) —3
12.  The characteristic of the number log 0.003942= Ans: (C) —3
13 @ jualell AsHall 25 2 82, dotl Usloll WsHal s 8lal. Ans : (C) 8
13. A number having digit 2 at unit place then its cube has digit atits unit place. Ans:(C)8

14, 3o wdcti Adt uUR Yslloll GHell w2l 40-a ol 2-ad Ul Aol GHRA URAUA ad gd. Ans : (C) 50

14. 3-years ago, the sum of ages of a father and his son was 40 years. After 2-years, the sum of ages of
the father and his son will be Ans : (C) 50

15. AABC3al ADEF i oldct ABC « DEF qu3Udl B. %l AB+BC=10 341al DE+EF=12 ctal AC=6,

DF= Ans: (C) 7.2
15. Correspondence ABC < DEF of AABC and ADEF is similarity. If AB+BC=10 and DE+EF=12 and
AC=6, then DF= Ans: (C) 7.2
16 AABCHi 22 =25 = BC Qe muc = Ans : (B) 30
1 2 V3
16. AB _ AC_ BC - .
In AABC, i T2 then m«4C = Ans : (B) 30

7. Q7 el 2f dyslgletl MU 82t dal sin 76 = cos 20 82, Al sin30 —+v3tanf = ___

Ans : Grace
17.  If 70 and 28 are measures of acute angles such that sin 70 = cos 20, then sin30 —v/3tan0 = ___
Ans : Grace

18, zleRell Wsx L UR a ol b (a > b) Hluid? wdcl A (gell alare{l Qlustl GRUSRLE HIU 30

Ual 608, dl alaRell Guy . Ans: (B)Vab

18. If the angles of elevation of tower from two points a and b (a > b) meters from its foot on the same side of
the tower, have measures 30 and 60, then the height of the tower is Ans: (B) Vab

19 ® (0,5) «ll As o, © (0,3) A A B, A Wauoll douss 89l Ans: (A) 8

19. Achordof ® (0,5) touches ©® (0, 3). Therefore the length of the chord= Ans:(A) 8

20, ol WAA HUBAlA HEu2YU o] 8.

aol 0-10 | 10-20 | 20-30 | 30-40 | 40-50

wgR | 7 15 13 17 10

Ans : (C) 20-30

20. The median class o the frequency distribution given below is

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Frequency 7 15 13 17 10

Ans : (C) 20-30
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21.

21.

22.

22.

23.
23.

24.

24.

25.

25.

26.

26.

27.

27.

28.
28.

29.
29.

30.
30.

31.

31.

ellds =t / Physics
YHIR A SWNT Qofl clotesell (8 2uni G lat cltesdll Vr%tt%acﬂ 8la B, Ans: (A) 3500

watt

Thermal conductivity of standard SWNT along its length is — Ans : (A) 3500

Aysct Yereads 2aul ol 5 AL aal 20 Al Jos dousaton oll3olnn Aot dAURLAL sl Al
Auiell sl clRslU v sl AAsIU 62 ?

Ans : (B) 20 A.HL. Fost collgoll AasiA wa 5 ML Jos Aollgall clresl2U

The compound microscope consists of two convex lenses of 5cm and 20cm focal length, then
which of them will be object lens and eye piece ?
Ans : (B) Object lens with 5cm focal length and eye piece with 20cm focal length.

oll Ballddiacld uivtoll Aotoll 3o clotlesHl 3512 U A3 B. Ans : (C) A3 0tz
The focal length of an eye lens is changed due to the action of Ans : (C) ciliary muscles

5Qall AURAUS cdlRoll A5 AUULRL 2551 531 AMA UMIAR BLScAUHL 3A Al AHell UHGCA

1
UcRAYU___ 2. Ans: (A) 20
If the five equal pieces of a resistance wire having 5Q resistance each is connected in parallel,

1
then their equivalent resistance will be Ans: (A) E'Q

WAs cles ARMIE 2A B2l [Qgdycle 1 AlRe M2 UAR sclHl WA 8. Al dlRME udR udl

5A [Qgdeur ¥edl & ? Ans : (D) 120C
The amount of 2A electric current is passed for 1 minute through one conducting wire. How
much total electric charge will pass through this wire ? Ans : (D) 120C

R sl e Yselel oldolln Ao ad dide] dRA@s, Qldg Aol Aol Bl & ALALe] uldllol

HAL ? Ans : (C) AScll Fos UR
At what distance should an object be placed to obtain its real, inverted and of same height as
the object by a convex lens ? Ans : (C) At centre of curvature

A6 As cllgetall AdL 5 AsesHI 5%&[1 aella 15%&[&, A Aell YAoLef HeU 32 o2 ?
m
Ans : (D) 2 2
Velocity of a vehicle increses from 5 % to 15 ? in 5 second. What is the magnitude of

acceleration ? Ans: (D) 2 ﬂz
S

(@l Aol UlaR +5.0D 8, cl Aoll ¥os clous decll ? Ans : (D) +20 2.4
What is the focal length of a convex lens having power + 5.0D ? Ans : (D) +20 cm

1 Newton = dyne. Ans:(C)10°

1 Newton = dyne. Ans:(C)10°

Y5l Ucol WHAL UELLAAOML 1 AsesHL Ul AUl Sl B. Ans:(B)9-8m/s
The increase in velocity of a freely falling body in one second is Ans: (B) 9:8 m/s

As ueld 20 m/s oll Bsull QR0 (R aHl IsciHi wa B, Al 32cll QLU UR Aol ol Gast wat

RAQ Gl Aot U ? (g = 10m/s?) Ans : (A) 10m
An object is thrown vertically upwards with velocity of 20 m/s. At what height will its kinetic
energy and potential energy be equal ? (g = 10m/sz) Ans : (A) 10m
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32.
32.

33.

33.

34,
34.

35.
35.

36.
36.

37.
37.

38.
38.

39.
39.

40.
40.

41.
41.

42.
42,

43.
43,

44,
44,

45.
45,

46.
46.

oA Usl 58 wgRlall talll uRsied & ? Ans : (D) 30,000 Hz

Sound corresponding to which frequency is ultrasonic sound ? Ans : (D) 30,000 Hz

WAs A ARYd [RaUHl skm Beq ddR 51U B. _URGle A Qe RauHl 12km Beq 3idR 51U

B, L AUUSH AAR 5 AULeliclRe] HeA 32 ? Ans : (B) 13km

A cyclist travels 5km in the east direction. Then he travels 12km in the south direction. What is

the magnitude of displacement of the cycle ? Ans : (B) 13km
AR / Chemistry

SARLSS WlAotHl 32l 8AsAel dlal & ? Ans: (B) 18

How many Electrons are there in chloride ion ? Ans : (B) 18

sl dsitd wes (A wrR ? Ans : (A) QU

Which Scientist gave the rule of octet ? Ans : (A) Lewis

sollyotle] 2@ s oM g © 2 Ans : (A) (@M sALS

What is the chemical name of quick lime ? Ans : (A) Calcium Oxide

Uololloll Fouoll AElat M2 Ul (300 cuRl ] ? Ans : (C) X-2

Which rays are used to diagnose cancer of esophagus ? Ans : (C) X-Ray

25°C = K. Ans : (C) 298

25°C= K. Ans : (C) 298

ol AottHill 5 RSl WUR (Tyndall effect) £20A B ?Ans : (B) Y

Which of the following shows the Tyndall effect ? Ans : (B) Milk

ol Suoj PH-YEL Ans : (C) 7 $cll A

The PH-Value of bite of honey-bee is Ans : (C) Less than 7

100 ml, 2M, NaOH slalgl dalrsReall HIZ 32l AU NaOH ofl %32 Ul ? Ans : (B) 8 AH

To prepare 100 ml, 2M, NaOH solution, gram of NaOH will be required. Ans: (B) 8gm

RolAU WAl Als, sIRAH uUa [Asce] Yl ded sl & ? Ans: (A) 7:2:1

What is the ratio of iron, chromium and nickel in stainless steel ?  Ans: (A) 7:2:1

Alollotl Y0 dalR sall HI2 WollHi 58 tlg GARAUM WA & ? Ans : (C) cliof Al UiEl

Which metal is mixed with gold to prepare its ornaments ? Ans : (C) Copper o
PABA of YulotlH cul. Ans : (C) WRIAMAAASs ARLS

The full form of PABA is Ans : (C) Para Amino Benzoic Acid

Al sl cuRlA ool ? Ans : (D) A&t

Where ammonia is not used ? Ans : (D) Welding

WA AU S Y 9 & ? Ans : (C) H,5,0;
What is the chemical formula of oleum ? Ans: (C) H,S,0,

r Silver
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%®ci(Asiiel / Biology

47. Gl AN, oll ActSl SAASR HSHGA Yrdlal YsollR deltlAse] oltd WL Ans : (D) 2ol WA (35
47. Give the name of scientist DNA molecules. Ans : (D) Watson and crick

48 58 corUlA-V2ll Aol SlW R atd uR Usdloto] Yot URAA B ? Ans : (A) ¥cslals Qall
48. Which of the Plant tissue shows the pectin deposition on cell wall ? Ans : (A) Collenchyma

49, gl A0l BosGWodl cllARU HiN; Yl Jcta & ? Ans : (D) U815

49. Which disease is spread through influenza virus H;N; ? Ans : (D) Swineflu

50 (Gettd{l stimsRel Ut vuetR dsills Ans : (B) 3¢ [AlQax

50. Binomial nomenclature was given by the scientist Ans : (B) Carolus Linnaeus

5L se (Ale Ut (Addteotl Jsulell R et WA AslAAl B ? Ans : (A) ecllell slatoll

51. Which special structures are connected with wall of the lungs in class Aves ? Ans : (A) Air Sac

52 ynazesl wiell ol Ans : (C) GULELAARY
52. Identify the protochordata Animals. Ans : (C) Balanoglossus
53 &iGoll YurRAl s A 58 © ? Ans : (A) Wlotl el (B) Wetl@st

53.  Which is the improved hybrid variety of Wheat ? Ans : (A) Sona OR (B) Sonalika

54 oflAsuuiell sy Gueloll otell 2 Ans : (C) el

54. Which of the following is not consumer ? Ans : (C) Autotrophs

55, yretudl BRelell dol dolts decll ala ® 2 Ans : Grace
55. What is the range of wavelength of U.V. rays ? Ans : Grace

56 oflActiMiedl 58 A i@l vl Ay wEBicl AR A3 ad ® ? Ans: (B) eugfls A

56. Which of the following gland acts as an endocrine gland as well as exocrine gland ?
Ans : (B) Pancreas gland

57 cyRY vl ot gatell Ylalle] @iyl sl SN 6l A B ? Ans: (B) 2815 SIM
57. By which cell the process of opening and closing of stomata is controlled ? Ans : (B) Guard Cell

58, Yl HofWloll HOlo] cel 2 Sl B ? Ans : (A) 1350 UM
58. What is the weight of the brain of an adult human ? Ans : (A) 1350gm
59 yopwall gEAML BUR WAL WS Fecll & ? Ans : (C) &

59. How many upper chambers are present in human heart? Ans: (C) Two

60.  otaylat dotruld Aot otiH sayrasmi Yst@c i ® ? Ans : (C) S 32l s
60. In which book endangered plant species names are published ? Ans : (C) Red data book
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AHLBs [@Qstiet / Social Science

61, ngielarull" QR eURdsll AwAHL . Ans : (C) RS
61. "Kanchenjungha" peak is situated in state of India. Ans : (C) Sikkim

62. opou A EY oEloll AYS Yalle sl ottHell BN B ? Ans : (C) Redotl
62. By which name the combined flow of river the Ganga and the Brahmputra is known ? Ans : (C) Meghna

63. oy giaflrul UAA Ll (AR S cRAULE AAA B ? Ans: (A) Qs

63. Which area in Jammu and Kashmir is an area of scanty rainfall ? Ans : (A) Leh

64 aRd A YAU o] R oldRal 5120 A UY B ? Ans : (A) YA

64. Distance between India and Europe was reduced due to canal. Ans : (A) Suez

65.  5¢5 o€l siolnell wisSla Hadl «tell ? Ans : (D) st €L

65. Which reiver does not meet to Bay of Bengal ? Ans : (D) Narmada

66.  flsotl Uil 9 dauRsaUMHL WA B ? Ans : (B) 2Uo2l 80l

66. What is prepared out of the liquid of Chid ? Ans : (B) Turpentine

67.  Als ol ARRaue] ay @8 ugnddl et 58 & 2 Ans : (B) USWLG

67. Which soil contains more combination of iron and Aluminum ? Ans : (B) Laterite

68.  Gscl MUSARA sl Bl HA B ? Ans : (D) UBH wll2atl oLclHl

68. Where are the flying squirrels seen ? Ans : (D) In Western Ghats Forests

69.  ojegAcdHl WU (ActS], YswR ual e 58 setletlt YRl & 2 Ans : (B) el AR
69. Which class of Animals are desert cat Ghudkhar and bear in Gujarat ? Ans : (B) Endangered
70. 58 o€l UR ollolafel ULIR Awetl WA ] ? Ans : (B) Bl

70.  On which river lies the Nagarjunasagar project ?  Ans : (B) Krishna

71 a3Uell sleld Yg el sl Ws H2 el B ? Ans : (D) SULA
71.  For which crop, is Kanam region of Bharuch famous ? Ans : (D) Cotton

72, oAl Mgl WAl et eid s Ael2lloll WIEL sl ez U8 ol Aottmiell

56 AUl otell ? Ans : (D) DARE

72.  Which institution of following does not purchase farm products from farmers as a
sustainable prize ? Ans : (D) DARE

73, sl ysiRell wlot QuslEa Gl ytaell @2 B »? Ans : (A) sL0{l %ot

73.  Which soil have been derived from the Deccan Trap ? Ans : (A) Black Soil

74 wflusl wWiElAa” gl AU sReUHl AUAG &q ? Ans : (D) GcRiuUA

74.  In which state was ‘Chipko Movement’ occurred ? Ans : (D) Uttaranchal

75 gl Rad “Bd (QQudl Rau” 3% Gyl d ? Ans : (C) 29-SIR01R

75.  Which day is celebrated as “World Biodiversity Day” ? Ans : (C) 29-Decemeber

76 yauu [Quytudi (QueRetl olloit-Hlel Hofl sat 3eat 2ol ewdl dlal ? Ans : (B) 32

76. How many countries had plunged in to the first world war ? Ans : (B) 32
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77, o{AAlclAl WLl eSS 56 UEAHT U ol ? Ans : (A) 1919
77.  When was Jallianwala Bagh Massacre happended ? Ans : (A) 1919

78 giSl ML sl A3 U ? Ans : (€) 1241 Wl 1930
78.  When did Dandi March start ? Ans : (C) 12" March, 1930

79 Qo5 o UARSIA @253 dlsotell U 531 A 3% Ao B. Ans : (B) SEATO
79. England and America established military organization is known as Ans : (B) SEATO

80.  ¢.2.1971 1l "l Aol Al UeslR' ofl AUl e sl 2ot WA s31 72 Ans: (€) R0
80. In 1971 with which country India made traty ? Ans : (C) Russia

8L RAMl [Aotolsiaell @zl (Aot Yads slal sl ? Ans : (C) UB dl ocllgReAlcd 83
81. Who was the promoter of non-aligned movement from India ? Ans : (C) Pandit Jawaharlal Nehru

82.  5ys ojloll USIR sl Yl U AsnAA ] ? Ans : (C) GxlR y&al

82. Which state is related to Kathak Dance ? Ans : (C) Uttar Pradesh
83. R vyaRlell sl Ans : (B) Wl@QsU B.

83. The work by Amir Khusro is Ans : (B) Ashikan

84.  gAeyR R olidle] 2R clRUUR WUIEAS 5QL &cll ? Ans : (B) USHR
84. Who Founded the city of Fatehpur sikri ? Ans : (B) Akbar

85 gallyuUd ASoll UHA GiusiHatl Aol Yalor sdad & ? Ans : (A) U&% 6L
85. Which Mughal emperor’s period is known as golden period of Indian architecture ?
Ans : (A) Shah Jahan

86. (Aol Al M2l slclojuU KA B ? Ans : (D) HelellR
86. Which is the world’s largest epic ? Ans : (D) Mahabharat

87, oftrl Aal Aol QD AN AcEloll AUe %l UUSRUHL scUM] W § ?
Ans : (A) Ysd Mes

87. In which literature a collection of dialogues between Buddha and his disciples is given ?
Ans : (A) Sukta Pitaka

88. Mol €5\ ArglAotl AREL ARy Bl stlAo] otiH seual. Ans : (B) alds
88. Give the name of race known as creator of Mohen-jo-Daro Culture. Ans : (B) Dravidian

89. 3 UM, Ao, udly Mg, AU ols, &5 s€ Rl Wllot el wAd Yot 58 ol ?
Ans : (D) AHRALS

89. Black complexion, broad head, flat nose, short height etc. were the physical features of the tribe
called.... Ans : (D) The Autroloids

90.  onfot 5(A A2 58 (A WA Y3l AL Gsul &cll 2 Ans: (C) U@ sllol WHAAY

90. German poet Goethe was so much impressed by reading which drama that he put it on his head and
danced with joy ? Ans : (C) Abhignam Shankuntalam

9L ap? 518 UQL WRSL UR URUL Hd U R [Arlas Hd (siRElol dle) slet audl a ® 2
Ans : (D) Aeauet (RUlsR)

91. Who can give the casting vote in case of a tie for any bill ?
Ans : (C) Chairman (Speaker)
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92, ciuRalell Yoo &sSUHL o{lActHill Sloll AmA2 U otell ? Ans : (B) Bl2Ale] wUHIet sRclloll Yol &55

92.  Which one right is not included in fundamental rights in our constitution?
Ans : (B) Insulting of women by men.

93.  opRAct AURA UMl Tami AdI Aux WA ws wRAUl el decl 25l HBAL Wolltdsll

olelle sRalHL uldl ? Ans : (D) 33 %

93. How many parentage have been provided reservation for women entire nation including Gujarat in local
self-government organization. Ans:(D)33 %

94. oAUl sol 3ncllotl Groyet HIZ 58 Alogetl WHAML Y51 B ? Ans : () (Qaucterl ollos

94.  Gujarat has implemented scheme such as Bond to promote women education.
Ans : (C) Vidyalaxmi

95. 2001 ol A(A oL UofUR ARAML 1000 YN Bllo] YMIRL__ &d. Ans : (A) 933
95.  According to 2001 census, there were women per thousand men in India. Ans : (A) 933
9.  auRd gal B. Ans : (C) [Qstelld

96. Indiais country.  Ans: (C) Developing

97 oflActtmiell sl Ea @QsRA otell 2 Ans : (C) AW

97.  Which country is not developed from following ? Ans : (C) Nepal

98. ol Acttmiell 58 Ygell AHA Acl Qs Ul el ? Ans : (D) U UlCtat
98.  Which activity cannot be classified under service sector ?  Ans : (D) Cattle rearing

9. dRs?:wuell «lQ RUUR U AsAA B. Ans : (B) (A& 2L

99. The policy of globalization is associated with Ans : (B) Foreign trade

100.  quRdMi sl adHi Fos ARSI clly YENEL (il iRl udR sl & ? Ans : (B) 1981
100. In which year, Government of India passed air pollution control act in India ? Ans : (B) 1981
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